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WORK SHEET

The maximum temperature in a city on 7 days of a certain week was 34.8°
C, 38.5°C, 334°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean
temperature for the week.

R GEUILL anysHHed paISHear oiFsU’F Gauliumemey 34.8° C, 38.5°C,
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C o5 BmHaH. b eumgsSler syme
O ILIBlENEVENUIS  SHTEUIT.

a. 33.8° b. 34.9° c. 34.2° d. 35.5°

The mean weight of 10 boys in a cricket team is 65.5 kg. What is the total

weight of 10 boys.
@ FHMB0sL Gupaled 10 TeweuTHeler FITHl oL 65.5 &H.&. ObHSH LSS
LomewtaUTeilelr OLoTdH g 6lemL 6TedTenr?

a. 655 b. 665 c. 670 d. 675

If the mean of the following numbers is 38, find the value of x. 48, x, 37, 38,
36, 27, 35, 34, 38, 49, 33.

LTedteu(pLD eTevitberiianl FImadl 38 ereipmed, X @6 L&lienLiss &ewmilpluiayb?

48, x, 37, 38, 36, 27, 35, 34, 38, 49, 33.

a. 42 b. 43 c.44 d. 45
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If in a class of 20 students, 5 students have scored 76 marks, 7 students
have scored 77 marks and 8 students have scored 78 marks, then compute
the mean of the class.

R UGLILTe0 20 LOTEOTOUTHET 2 6iTemelT. @QUTHEHET S5  LDTEOTeUTHET HeoT 76
LOHIIGLIGTTISEHLD. 7  LOTEWIGUTHET HeoT 77 LOFHILIOLIGHISEGHD, 8 LOTEWICUTHET &He0T
78 WHIOLIETHTISHEHD GUBLIeTeNeIT. uGUUF FTrgfl HICLERHT HTewIs.

a.78 b.77.15 c.75.95 d.73.25

Find the average of all prime Numbers Between 30 and 50
30 wBmID 50-BE@ BewL G o e6iTen LST 6lewIHeT FITHFM HTEWISH.

a.39.1 b. 41.5 c.39.8 d.37.4

Find the average of first 40 natural Numbers.

wHev 40 BuiGevemideaien FymFflenul HTewIS.
a. 20 b. 21 c.20.5 d.0

The average marks of 50 students is 40. The mark of a student is wrongly
taken as 35 instead of 85. Find the correct average of 50 students by taking

the correct mark of a student.

50 wrentauTdHeen WwHIGLIeHIGeMeT FImaml 40 e1aiml HewrdbSIL UL (HeiTendl. L6
@@ oTeoTeuslier DGR 85 &H@& UFHeond 35 el@iml  IBSHBIULL . 50
LomeooTeUTe e giluwimedt LoGLIOLewTenenidh Odmewi(y Ffluwimen Fymaf smeur.

a. 38 b. 39 c.42 d. 41

The mean mark of 75 students was found to be 35. Later on, it was found

that as score of 32 was misread as 23. Find the correct mean corresponding

to the correct score.

75 omewielTdeiles SHICUewIHellen Fymam 35 eleiml  HewibdSIL UL LGl N6
32 o3  WFIGewt 23 eIl HOUBIHVTH  GBSBUILLLG CHNw  ubHBHSHI.
gilwmer IO Smend OCdTenih Fhwimer Fymamenulds SHTemb.

a. 35.12 b. 35.21 c.35.23 d. 35.32

The average of 5 numbers is 180. If one of the numbers is removed then the

average becomes 155. Find the removed number?
5 eemimeiled gymafl 180 Sleummled e elewienel [HHBHlemed gFymgdl 155 ereo
LOTBIFIBHI 6160160 [HHBLILIL L 6T60T6N60TE  SHTEWIS.

a. 240 b. 280 c. 320 d. 360

Cricket player Dhoni’s average in first 30 matches was 72 runs. After 31st
match, his average raise as 73 runs. How many runs did he make in 31st
match?
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M0 aiyf CLrelulesr (pHed 30 Syl MisEpdsTar Fymam UL (runs)
72 alenebSeubHLLILLQMmHbHSH. 3leugdl LD HOLOUBB LT SleuhenLul
grmafl @ULb 73 o8 o wihssl ealed 3leugh oL HFH0 SlauT BSHHHHD
PLLMAIGET (runs) e1gsemet?

a. 100 b. 103 c.74 d. 108

Nine Person went to a hotel for taking their Meals. Eight of them spent Rs
12 each on their meals and the ninth spent Rs. 8 more than the average

expenditure of all the nine. What was the total money spent by them?

© W6 2 GWILSBHTE 9 [BUTH6T 2 ewieudbld CFOFSIBIT. DGO 8 BHUTHEI
SUTHEPML U 2 _ewialBETE ST h 12 OCaETheSHIBIT. 9-Qpaughl  [BUT,
Slmaafd  Fgngienwl @l ap 8 IHsD  CFalBHBTT. 6T6lled  DIEUTH6T
QFevall L QTsHe OFHTensd 6l6lealene]|?

a. Rs 115 b. Rs. 119 c. Rs. 117 d. Rs. 120

The average of five consecutive odd numbers is 61. What is the difference
between the highest and lowest number?

OHTLTEFFwTen b Q@Bewm LWL elanideller ggmam 61. elefled Oufluw BBID
FBlw erewisement alHHWTFD 6T6dr601?

a.2 b.5 c.8 d. None of these

The average of runs of a cricket player in 10 innings was 32. How many
runs must he make in his next innings so as to increase his average of runs
by 4?

@M  WLLUBSTLLGSSTIT 10 oL misefled  ggrafwuns 32 gl LmiEeT
ABSHHBTT. DIBSHD DL LSHH0 IHIHMI @LULMIFB6T IHHDHTL  Dlev(HEnL Ul
gyngf QUL 4 9FHsfdHEh?

a.?2 b. 4 c.76 d. 36

The average age of 36 students in a group is 14 years. When teacher’s age is
included to it, the average increases by one. What is the teacher’s age in

years?

R  GUpeled 36 TewieuTHelT o sfenienT  SlauTHellesr  gymafl  euwgk 14
AUHLBEISET @b odfflwfler suwg GaTdsliu’ L et b Groaler gFIma
AW @QeTBl DIFHSMNESILGHBSH 6160 DibHdH opFMwiflenr euuwig eeiter?

a. 37 b. 41 c. 51 d. Can’t be determined

The mean of the square of first 11 natural numbers is.
W& He0 11 Buied erewiderllen euTdhamibelen Fyma
a. 26 b. 46 c. 48 d. 52
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6 months ago the age of kiran was 18 years. 6 months hence the age of

kiran will be

6 LTHHBEHHG (el SHFeniel e 18 eUHLMIGET. 6 LTHHISEHSSGL LIBG
SHyemiled QUUIGI 6T60T60T?

a. 18 years b. 17 years c. 19 years d. 20 years

Sachin is younger than Rahul by 4 years. If their ages are in the respective

ratio of 7 : 9, how old is Sachin ?
g&lent TTGemevall 4 euwgk SenemuwleuT. SmHeuflel euugh al&lEHd 7 : 9 eleied
FFF DI QUG 616316077

a. 16 year b. 18 years c. 28 years d. None of these

The ratio between the present ages of P and Qis 6 : 7. If Q is 4 years older
than P, what will be the ratio of the ages of P and Q after 4 years ?

P wpmip Q &1 sBGurensw euwder aldsd 6 17 Q eaaeum P & ol 4
AW DIFHHD. 4 auBLSABG LImg P ompid Q 6 euuigl aldsid eleiten?
a.3:4 b.3:5 c.4:3 d.7:8

The total of the ages of Jayanth, Prem and Saran is 93 years. Ten years ago,

the ratio of their ages was 2 : 3: 4. What is the present age of Saran?

Owhs, UGy, gyemr ou@SCunfear euwder mBHev 93 eupLmIGeT. 10
AUHLBIBEHDE (Pl DeUTHele e alHHd 2 : 3 : 4 eleile0 FJeufledt
SBEUTMHUI UUIF| 6T60T60T 7

a. 24 years b. 32 years c. 34 years d. 38 years

The total age of A and B is 12 years more than the total age of B and C. C is
how many years younger than A

A oppib B ulenr euwidenr ampBsmeo B oppid C a1 euwidest ampBHener afl 12
OIFHHID. etaflev, C etaieuT A g3 &l 6T6laleNe)] 6ULIEHI EenerTuial?

a. 12 b. 24 c. Ciselderthan A d. Data inadequate

The present ages of Reena and Usha are 24 years and 36 years respectively

what was the ratio between the ages of Usha and Reena, 8 years ago?

feoorm LBWID 2 a9Taleal HBELTMHSHW ULIGIH6T (PenBGW 24 aU(HLMIS6T LOBHID
36 QUHLMIB6T 6lele0 8 LWIBBEHSHG (P&l © QT BmId  feormeles
aWGIHeNer aldSHD eaereuTd G HbH (HBHEGLD?

a.7:4 b.6:5 c.2:3 d.4:7

A Father said to his daughter, "I was old as you are at the present at the
time of your birth". If the father's age is 38 years now, the daughter's age
five years back was.
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FHHmH WS SBludTeudl, OB o 6 gl oot ObhsH gl b
LUIpphsoLTIDSH 6leid@  6len gnpleniT. Hhenspuler SHBGUTmHW euuwig 38 eefled
MhFH UHLMISEHHG (6L LDSHEHENLUI IUIHI 616l EHHH (HBHEGLD?

a. 14 b. 33 c. 38 d. 19

A Father said to his son, "I was old as you are at the present at the time of
your birth. If the father's age is 46 years. Now, the son's age 6 years back
was:

SHHWFH S SBUSToUH, BSID 2 a1 g elareaiCout, HbHH euwH b
LImhSHOUTIEH 6Tals@ 66l dmplenT. Hhowduler SHBOLUTHHU 6uuIFH 46 616160
6 UBHLSHBSG (WL DSH66T UUIZH 616316017

a. 19 b. 16 c.23 d.17

Sum of ages of Mohit and Riya 5 years hence will be 60 years. If the ratio of
ages of Riya and Mohit 5 years ago was 3 : 5 respectively. Find out the

present age of Riya?

5 uBLESEHSS UBg fwr gl Gorabs-er  euwdHear  gmbHev 60
QUHLMIGBET. MbhH U(HLMIBEHHEG (P DeuTdeller euwgk oldHlsbd 3 : 5
aiedley Mwmaler SBELTEMHUI LIS

a. 17 years b. 18 years c. 20 years d. 25 years

Ratio of present age of Rohan, Mohan, Neeta is 5 : 4 : 3 and the difference
between present age of Mohan and Neeta is 6 years. Find the age of Mohan
5 years hence?

Grramesr, Gomser, B Lmalar SBCUTMSHW aiuigk elFsHmiser (wepGuw 5:4 : 3
oBoIb  Gorser  OB@ID  BLLTelET g elSHHwrFd 6 eelled, S
UHLMIBEHSHSG LIBG GCurseie euulg eleret?

a. 19 b. 24 c.29 d. 34

Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively.
Three years hence, the ratio of their ages will become 11:9 respectively.
What is Anand's present age in years ?

aglST oBmpId  Sehd - &1 SBGUTmHW e eldSFHD 5 4 epeiiml
AUBLSHBG Upg euiseier auwgk aldad 11 : 9 eaefed Sembd - 6
SBCUTMSHUI 6UUIGI 6T6dT60T?

a.24 b. 27 c. 40 d. can not be determined

Ratio of ages of Muthu and Karthi at present is 5 : 3. But 6 years ago that
ratio is 3:1. What is the ratio of their ages after 5 years?

WS S  B@Id  &MTHH  HGwnfler  sBGuTmHW  auwgisealer  alslgd  5:3.
SLOTTEL 6 QUHLHBIBEHHE (el OB 3 @ 1 et BmbHHH. elaflev,
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SBOUTHHHH 5 UBLESEHSSGL LIBG  DlUTHEhenLuwl  eUuIgHSerer
A& HID eTeiTeToUTES E(HBESLD?
a.b:4 b.10:7 c.10:8 d.4:3

The sum of the present ages of a mother and his son is 68 years. Six years

hence, the ratio will be 11:5 then the present age of mother is.

SIDIOT  IOBBID  DUHMLU sl HBOUTHHW  aIwFHST  GmBHe0 63
QUHLMISET. Ml aUHLEISEHGGL LUBg 11 : 5 eeled Sbomaler HBEUTmSHW
QWIS ?

a. 50 years b. 49 years c. 48 years d. 45 years

One year ago a man was 8 times as old as his son. Now his age is equal to

the square of his son's age. Find the present age of the son.

R UBLSIHIBG ey FHhoHulsr awHTeardh wwHeafler alwendll Gureo 8
DL BISTGW. SBOUTMSHW FHHenHullel UG LOSEINL U LIS aITHSHHIHBEGF
FIDID 6160160 DB SHBEUTMSHUI UUIZHI 616516017

a.9 b. 8 c.7 d.6

8 years ago, Arun's age was % times that of Vinoth. 8 years hence, Arun's
age will be g times that of Vinoth. What is the present age of Arun?

8 UBLMSEHHG (P& DimHewlel auUSTeid alCameHdHler auwemsl Gumev %
DLRISTGHWD. 8 UBLESEHSSL LUIBEg Sihanmlwl awdsTendl G gl e

AUULIZH6D gwl_réj@ aedlley, SimHewiledt SBOUTMHWI GUUIFI 6T6vT60T?

a. 20 b. 25 c. 30 d. 40
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4 10
B B

14 20
C A
24 30
C D
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